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1. A Surge of 100 KV -/'m\/e//:'ng moa line o]f rotura

/'mfedamce. 600 ohms arrives at a juncv‘/oz; eorth  Fewo

[ines of surge /}n/oe_a/ances KOO obhms and 200 ohms
res/becv‘f've /_y Find +he Surge voltages and currern ts
Fransmitted  rmto each brarch //'ne. ‘ (Ro022)

2. A I132kV, 50 Hz, 3-/9h6(52, 100 Kk»r) /0”9 Fransmissiorn liie
has a capacitance of Col2uF per Km per phase
Determine 1he inductive reactance and KA ”’“""’9
0]5 +the oarc Sup/press/an cor/ Sufabl/e f;r'- the [ine

tfo eliminate a/'c/'ny grauna’ /o/lenc?menon . (2072 )

3. T/’)e Sync//ronou.s re,ac—r‘ance, Of’ A c:y//};a//v'ca./ rotor

machine 1s [2 79,0, /he macéz}ye 15 cormrectes

40 arn L te bys cobose Vo IHage s/ v 7‘7‘7/*0054
an eguivalent reactance
Ou’t/pu‘f of 077(, 7
+o be 30°

() Lino Hhe exc/fotron va/faye E,. ard the /ou//- out
/Dowe/’,

CB) For the same /oower ou'ffuf —+he power cmy/e, /s
+o be redvceo +o 25° Find +he valve of +the

reduced e?u/'va./en'é reactasce caonecf/'oy +he
machine +o +the bus -+o achieve +H/s . What

toould be +he recs //-
£ A L-hp 1200 o it .Odf fower 7 (2070
A 3-hp Hz CApacitor- stort motor has
+Ae,fo//omin? constants 7501— rhe. moss and a:ux/'//«/y
w}nd/’?j\g Cat sv‘nrt/ng D

oF o3 X For a [rower
the power Angle s 7£ocmc/

Meic w""d"”j', Zm=45+J'3.7 £

Aux/'//ou'j w/'r)o’,'ny) Za.': ?5'/'.,/'3-5‘ )
Find +he valve of  starting copacitance that coilf
P/ace_ he rmain anol ‘Q‘”‘//""V‘j windihg currents 09y

- QUac/ra-/-c/re at S/ar—/‘/nj,. (20%)
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) Ex/p/w‘n each aof the fa//au)/'ny tferms:
i) Praxim/'v‘j effec‘lf'
ciiy Diverter resistance
ity Epr #hing fransformer
1z Fr'/}ogl}—,\e/ eﬁleclf
3% Dn'ﬁferen')z‘/a./ r'e/aj
V) D':?Connec-/-/ny Swrteh
ity Critical f/aséover vo/#a:?e,
cviy [ —_—2{- cireut breaker scheme

cix) IKL. ( Isokeracn/c level/ D .
(X)) BIL (-B&KS/'C /1:9/;'/‘01‘,—,'.7 /r'n/pa/.fe //‘750/47‘/'00 /el/e/)
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